2
s=
=

¥

s R —

EMERE P FCE AT

. Jr=>L = m 4= T4 2, 7 4 2
R EEPREE LI P i
¢ Ea {108 & L
Oo0OdOoooDdo|33033100101 ad ad
gooon ogooo-0o0o0 ad Hoopoooo ad 619700
o000 oooooobooogoooooooooooooooooooooon
0
0
0
0
0
0
0000000 oooooooboboooooooooboooooa
gooooooood oo HRE oad god pgooooo
aad 6,197,000|0 [0 6,197,00000
o100 oo 6,197,000| [0 6,197,00000
goiooo oo 5,812,000|1 [0 5,812,00001
ggoolooooooog 3,356,340
goooooad 3,356,340
0 1 3,229,140 3,229,100 0000 ooooad
a 1 127,200 127200 000000000000
do@dooooooiood
gluyooooooiooo
ogoooiwoooooogl
0o)
goolsooooooa 559,032
oooooooood 559,032
a 1 559,032 500200000000
ooo111 00 1,141,984
goooood 652,562
a 1 21,200 212000 0000000000a0ad
oo

310-1

|

e
=
=

FT

A w —



2
s=
=

¥

s R —

& ERE & g iRt
. Jr=>L > ) B 2 1 & 7 4 2
}%‘ =P 3 ]3 %'ft_ﬁ_l;_‘ pj?\ P\ # p SH)
¢ E S R108E B Rk
0oo00oo0o0oo 00 00 0o ooo 0ooooo
0 1 631,362 631,3620 0000000000
000O0000O0O 489,422
0 1 15,900 159000 000000000000
0o
0 1 473,522 4735220 00000000000
0o
0001210000 48,000
ooooooo 48,000
0 1 48,000 48,0000 00000000000
0O
00013100000 157,008
0oo000oo00o 157,008
0 1 157,008 157,080 000000000000
0O
000142000000 224,232
0ooO0O0ooO0oo 224,232
0 1 224,232 2242320000000000000
00
00015100 325,404
0oo00oooo 199,116
0 1 172,908 1720080 000000000000
00
0 1 26,208 262080 000000000000
0oo0o00oo00n 82,500
0 1 82,500 825000 000000000000
0000
000000000 43,788
0 1 43,788 437880 000000000000
00200000 385,000|0] O 385,000
000241000 72,000
0ooooooo 72,000
0 1 72,000 720000 000000000@01
0ooo10)0

310-2



2
s=
=

¥

s R —

&P RVE 2 pE AT
dr =21 220 = B4 2, , o %
RO FEPKEE LRGP i
£ {108% & 8 g A
gooooogoon 0gd ggd gg goono gooogg
ggoo27vi00d 28,000
goooooo 28,000
O 1 28,000 280000 000000000
goo2900ononOng 29,000
goooooog 29,000
O 1 8,000 gooDoonoOoooOoo@o
gooooggooooggo
00)0
O 1 7,000 700000 0000000O0O0OO0O
goooo
O 1 14,000 14000 0000000070000
doooooooooao(re,
000=14,0000)d 0 O700
gooz10000000 196,000
goopooogoono 196,000
O 1 98,000 gooo OO0 OOOnd
O 1 98,000 98,0000 O O LEDO O OO
000298000 60,000
pgooooo 60,000
O 1 60,000 o000 0 OO OO0OOObOOn
Oogog

e
=
=

FT

R

310-3



iz
7

¥

T —

RERRLAN

I s o

£ P EL L P FCE AR5
. Jr=>L = m b % 2, 7 4 2
RO ERPREE LT P i
P #1084 A Rk Yol
000000000 |33033100301 o o
agooon oooo-oo0gao o R o 4,8890 0
0000000 1.0000002000000003.0000004.0000005000000

oooobdo0o 10bo0obobobobooobooboobobooobooboobobDooboobOo200b00O0

ooooboobobbobooobsoobooboboooboobooboboooboobon

oooobogooo

ooooboobon oo (BN RN goo gooooo
oo 4,889,000| OJ 4,889,00001
o1ooono 4,889,000|0 O 4,889,0000
gowoonm 60,000|0 0 60,0000
oookBi1uooon 60,000
gooobgoboo 60,000
U 1 60,000 eo000l b UunooonoOonoon
goboboooboobon
ooon
gozoonD O 4,829,000|0 OJ 4,829,0000
goozoi1oOoooO 5,000
ooooog 5,000
g 1 5,000 5000 00b000b0Ooboo0oDgd
goo
gooz02000 136,000
googo 6,000
O 1 6,000 o0 00D 0O0ODbOoOond
ooogon 130,000

FT
7

FT

T —

RERTI

310-4



iz
7

¥

To—

RERRLAN

& ERE & g iRt
. Jr=>L > ) B 2 1 & 7 4 2
}%‘»I\E’ 3 ]3 %'ft_@_l;_‘ pj?\ P\ # p SH)
¢ E S R108E B Rk
0oo00oo0o0oo 00 00 0o ooo 0ooooo
0 1 130,000 1300000 00000000000
000203000 75,000
0oooo0ooo 8,400
0 1 8,400 84000 000000000000
0000000000000
00000000 66,600
0 1 60,000 60,0000 000000000000
0000
0 1 6,600 66000 000000000000
0O
00022100000 630
ooooo 630
0 1 630 6300 000000000000
000231000 10,422
0oo0o00oo00n 1,422
0 1 1,422 14220 0000000000
0ooooooo 9,000
0 1 9,000 90,0000 00000000000
000249000000 3,866,001
0oooo0ooo 3,866,001
0 1 554,516 5545160 00000000201001
000348530 (00 10)0 0
418,2360 0 0 O O O 52,280
0000360000000
21,6000 O O O 26,4000 )
0 1 1,631,850 1,631,8500 0 0000000197003
0003433700 030)00
1,236,1320 0000 0
154,5180 O O O 104,4000 O
0 0 61,2000 O O O 75,600
0)0
0 1 540,831 5408310 000 00000195001
00 034,1060 (0 0 10)0 O
409,2720 0 0 O O O 51,159
0000348000000
20,4000 O O O 25,2000 )0
0 1 1,074,804 1,0748040 0000000019300 2

00 033,8520 (0 020)00

310-5

FT
7

FT

T —

FT

e



iz
7

¥

To—

RERRLAN

gogooboooboogd

g

oo

goggogoo

goo27100
googoog

googoogn

googo

goo2/ounoonon
gooooboboo

34,000

30,000

160,803

239,000

20,000

15,600

69,000

12,000

40,000

36,000

15,000

34,000

30,000

435,403

399,803

160,803

239,000

20,000

20,000

15,600

15,600

172,000

172,000

69,000

12,000

40,000

36,000

15,000

812,4480] J 0 O O 00 101,556
goooges.eoot O
40,8001 O O 00 50,4000 )T

gobobooobooobogon
oo

ggoooobooooon
ggd

gobooboobooobgn
goboboooboobon
ggoooobooooaon
ggoooobooooaon
ggoooobooooon

gooobooooboooo
gooobooooboooo
gooboobooobooobgn
gobooboobooobgn

ggoooobooooon
ggoogoobooooon
ggoogoobooooon

goooooooboooo

gobobooobooobogon
000D (260*220 *120 =68,
64050 00000000
RN

ggoooobooog

gobooboobooobgn
goo

gobooboobooobgon
gooooooobogooo

googooooiicooooo
goooooo g

310-6

FT

=

RN



iz
7

¥

T —

RERRLAN

& ERE & g iRt
s 2L > hy % 2, 1 4 3
}454:’1\': R 2 #&'@-‘?‘ \-:'IE F‘?p K R
£ R108E & Rk
0000000000 00 00 ufl 000 00o0ooo
0002810000000 10,000
0000000000 10,000
0 1 10,000 1000000 00000000000
0000
000220000000000 6,544
0000000000000 6,544
0 1 3,400 34000 0000000000
0 1 3,144 31440000000000000
0000000000000
0002830000000000 64,000
0000000000000 64,000
D 1 64,000 64,0000 000000000000
0000000000000
0o0oooo
00029010000 48,000
0000000 48,000
0 1 48,000 480000 000000000000

goo

FT
7

FT

T —

RERTI

310-7



POROW SR — S N s

&P ERE 2 FCE AT
RO FRPBREE LIS P ik

P EAE108E B

BREWER—=% "B &g

0o00o0o00DboOo 33033109001 g g
gooogo gooobooo-0bo0boo g Hobbbbod g 590 0
oooooon0 obooogob20booboibo
U
U
U
U
U
O
oooobdo0 Oobooboobobooboobooo
ooooboobon oo (BN RN goo gooooo
oo 59,000(0 [0 59,0000
oronoon 59,000|0 [0 59,0000
gosgonoon 59,000|0 [0 59,0000
goo31uooon 59,000
gooobgoboo 59,000
U 2 14,500 20000 0000000200
g 1 30,000 oo noooDi1bg

310-8



